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Lemmings are mammals that produce offspring in large numbers B el Sl s ot sl (o)l )

when food is plentiful. When the food supply diminishes, lemmings Cigas o puaY] 138 el Laxicy celiall iy xic
starve and many die. A sa Lgia Ll
Which of the following factors influences Lemmings population size? fua sl dolan aaa o Pl Lea Jals )

Predation L Y

Disease L yall

Parasites bbbt

. |
|
i
-
Competition (bl :
:
|
|
" |

r-----‘

Almost all the energy in living organisms originate from the Sun. fuf | LA “,i aillal) aBead il jhaall ueadd) el
In the figure below, which of the following refers to an organism . GilS A judu Ll ,-__51 colial Jga o edaall
that can transform chemical energy into mechanical energy? PACiilCia dilh ) duiliascl] A8l Jugad Ao a8

A and C C s A
a.

B onl La B
b y

C only Li C
C.

|
: BandC cC,B

d.;



Which of the following is not a component of the lymphatic system? || ¢ Adll jlgal) lig€e fa ud LGN (a5

1
The pituitary gland daalanll soall .
i
o

The spleen ladall

The tonsils Cx el

The thymus gland 4 eyl saall

| Which of the following diseases is shown in the picture below? olial 5y guall daagi AJEN (b e sl

—------'---_—-_-—--ﬂ-’—---—--—----—----——--—--—-n--—------—__-_-_----H--H-“--_-H-ﬂ--1

Rheumatoid arthritis saiilag )l Jualzall Lilgnll

r---1

Tetanus s

Sickle—cell disease dalaiall LAY o ye

Allergy Ll



o

The figure below shows various ways of diseases transmission Al JUEDY 43S, (8 e el oliaf Jo2)

to humans. Which of the following letters indicates the JR ) adu Sl Laa Giga L_;i o ) A

transmission of diseases through vectors? foDEU 3k oo salzay)

A
8

An infectious disease is a disease that happens when a e JEGL Ladie Sdau e sh (sanall (@ all

pathogen is passed from one organism to another. e Wippu P ) < AT A > S G (aall

Which of the following is considered the cause of Malaria? 3 L yal n.,.u._um

Bacteria Lyl
Viruses Sl g il
Parasites Sillalal)

[ o

|

|

: Protozoa
|

|

[

&
.



The figure below represents four different allergens, 38 Lao Ada Ll cilues Aoyl olif JC2) Jias
which letter refers to the allergen that is responsible for OF Algiaall Acliall Cilalga ) el o3 Cijal)

the most fatalities and causes anaphylaxis reaction? Cada il ducloadl Je i Cudy il gll alia

A

Which of the following best identifies the relationship between the O ABal) Ty uiadl adfi 40Y) cllaall e ,__gi

processes of photosynthesis and cellular respiration? fgglad) (uiilly Agall elidl Julee

Both processes generate energy for cell use Ldall lgardng s A8lh Alg luleadl BIS

Both processes release energy for cell use adall lpenanes Ja dill el il GIS
r-----------------------------------------------------------------------------------1
: "
: The products of one process are used as reactants by Lleli Jge Ailias 2050 Hdulaall (gaa) e =i Al gl :
! s
i the other process AN Adeall .
0 "
1 ¥
b 4

The reactants of one process are also the reactants Llelall dgall Lad & cyodasll gaal 8 ddelinll gl

of the other process $yaY! Alaall




The figure below shows dispersion of a population within an (Bataa dibi, ot Aailal) cloleal) jLESH E'u.'ui Craaa olial JEE

area. study it and then answer the question: il (8 caal a5 Al
Which letter(s) of the following indicates uniform dispersion? Caliiial) JLEEY) ) el b Laa {..i_,a.i]d s sl

[ ]
L]
L]
-
L ]
]

r-----------------------------------------------------------------------------------1
i i
1 A A |

L--------------------------------'-------------------------------‘-------------------‘

C Cc
C.
d.| AandB B, A
In the figure below, the macrophage presents the antigen T 4ddl) ) sdal) slga daald) Al aa colial awa i L
to the helper T cell by binding to a receptor on the helper baclucall T ddal) o Jiiwas ddayy b (8 cBae Losall
T cell. This binding help T cell to divide. aludiy) e T adal blay s 2 Loy
Which of the following stimulates this binding? a1 13 Sigaat hla poes L Les
dpdlss el
as  Helper Cell
Processed antigen
The helper T cell presents a processed antigen for the macrophage danldl Ada) mllas s dge 2ol T adall aom
d.
------------------------------‘-----------------------------------------------------1
| |
b. E The macrophage engulfs and presents an antigen outside the cell dddall iyl dan® g sl Algal duaelid) Ads) Llgll E
L-----------------------------------------------------------------------------------j
Cytotoxic T cells release cytokines SlaSanad] dblal T LAY 3kl
s
d B cells produces antibodies 5pilie Bolima sleal B DA (45S




C.

Based on the table below, which letter of the following corresponds to the ulds it Lea i sl colial ) gaatt o) Jatizad

correct definition of carrying capacity? edule i) 5,08 s ujﬁ

Anlas Baag JS B daall Sl 2
The number of organism per unit area.

gilaa¥) dolaaldl O gty o) A s

The number of individuals moving away from a population.

Agilal) delaall ) & gadaly Gudll A8 s
The number of individuals moving into a population.

cJughll gaall e dae s Al adinnd gy A e sae sl

The maximum number of individuals in a species that an environment can support for the long term.

D

r-:---:---:--‘
L-------‘



i

r-------.1

-

The figure below shows the electron transport in light cSlelis A Gy sy Juml slial JSaN g
reactions of photosynthesis. Which letter of the following ok Las i I, srigeall JAaT dalasl g guiall

refers to the Ferredoxin protein?

-----------------------------------------------------------------------------------1

O




In the figure below, the macrophage presents the antigen T il Y sdall alpe daalddl ddd auis colif PR ,‘!
to the helper T cell by binding to a receptor on the helper b laadl T AdaY) o St dby; 3k 0p Bae L)
T cell. This binding help T cell to divide. aludi¥) e T dudad) BLoY) 138 ae by

Which of the following stimulates this binding? thla N1 10 Gigaad Gila pdey A Les

Tads
e ol TV N

s Helper Cell
Processed antigen

The helper T cell presents a processed antigen for the macrophage dasll dula0 llae La Alga Bac Ll T adal Lom

d.
r--------------------------------------------------------_--------—-----------‘------1
i :
b : The macrophage engulfs and presents an antigen outside the cell dddall myla dan g dsall Algal daanld) dudsll Llgall :
"R 3
L-----------------------------------------------------------------------------------‘
Cytotoxic T cells release cytokines SliS gl ABEN T LA 5kl
C.
d B cells produces antibodies 5pilie 5ilima slual B WS (455

The graph below represents the population growth of ¢ Clal e Al deles $al puays sl i) aca)l

3
i.

15
0
3

.0

1.5

1.0

[owibal o sl 3l e Lol
B B

i
. | Il |
AL A * Sl T
HEREC SREANY, pasalRess s
nl-l - Ll 1 3 5 78 NUBB7RNNAS

mice over time, What does the letter (A) refer to? YA dpd)ad] juds il L
)
T 3 5§ 7 3 N3 ETW N AN S

Exponential Population Growth
' |
|
I
|
8) / Wil
Months

i

Exponential growth Y| pail

Acceleration phase gkl )b

Lag phase e blall sk

1
L]
1
]
i
ol

Straight-line growth chaatl gaill




Which process does not occur in the organelle illustrated below?  %slisl daiagall dudanll o Gaas Y AN duleal) o4 L

b Krebs cycle oS By
Conversion of pyruvate into acetyl CoA (CoA) A o3| (3ihe il M cligpull Ligas

C.

d. Electron transport s S Jal)

The figure below shows Calvin's cycle. Why do plants cells alall m lalal o LS ddls slial JEal ras
undergo the second phase of photosynthesis? frgall il G dulil) dda pall ) dslal)

5 Because it needs to produce more NADH NADH (e ajall pla) ) o Bad L
h Because it needs to produce more ATP ATP (e aall ) 2 las LY
Because it needs to produce more NADPH, NADPH, (e ujall sl M oloas LY

C.
' N D D
i i
: Because it needs to store the chemical energy in a more Silija L*j aileaSH A3k CRAd =l Etn:t sy :
i |
- ¥ Er s apf = . .
: stable organic molecules Bls sl digiac :
L i



r-----------------------------------------------------------------------------------

| What is the role of the complement proteins, found in the

plasma, in the immune response?

Enhance and activate phagocytosis

Deactivate cytotoxic T cells

2 Bagagall dlaall Silisigll g 90 L
Cdusliall Llaia) 3 LS

danldl Jaoliig jajas

A T Wl Jalaes

Strengthening the plasma membrane

oD elaall dygi

C.
4 Releasing digestion enzymes pragll Silasyi) (U
The graph below represents the process of alcohol fermentation, i ol L ,__ﬂ sl el ddee Jia slisf Jei)
which of the following refers to the letter (A) in the illustration ¢alial amagill a2 (A) i) )
below?
e (A)
pesese ¢
== L 4 ]
- ) wo
" (G=p)
syl 2
L]

Lactic Acid Iy § INEVAVES
r--------------------------------------------‘----------- ---------‘-------------------1
|
; Ethanol bt

b.
|
L -----------------------------------------------------------------------------------
c. Acetyl Co-A A N Gihe (o)
Citric Acid

-ﬂyﬁ.ﬁi Laan




| Which of the following organism follows an r-strategy ¢ A —r Lol addes AN Lol cLSY e 6l

for reproduction?

B

C




The figure below shows the breakdown of pyruvate into L) AU ) ldg ) Gaas Jlal sliaf &N g

carbon dioxide through Krebs cycle. Study it and answer the sl o -,.q..! ,i L.ual s S By g JYA O J:IJS-“
question: how many ATP molecules are produced from NADH Cliia o leald) o A ATP Slija 20 a8
NADH molecules released from the breakdown of one Pl ) e daly oG Jlad e Elﬁ el

pyruvate molecule? "

oo

12



An infectious disease is a disease that happens when a

pathogen is passed from one organism to another.
Which of the following is considered the cause of Malaria?

| cascee JL Latic Eisay (ase 98 (s3mall (aall

s A laa gl AT ) s 05IS e Gl
LSl ol s

r---‘

Bacteria L oSl
_Vi;uses Sl g il
Parasites Silalalall

The figure below demonstrate the metabolism, which is a

series of chemical reactions in the cell where a product of

one reaction is a substrate of the next reaction.

Which of the following is a correct description of the

ongoing process?

Metabolism
un.i-ﬂl wililac

Molecule 1
1 5l

[ Pathway B

B jluall

| < |

=

el dludu g seldll Galll Ul JCA iy

Balall 54 saly Jo i i s dums LAY B Aleastl

LGN Jelal A delita)
?Mﬂiww&ajfiﬂﬁ Lu;__;]

Pathway A

A jlasall

Molecule 2

2 sl

Energy released
Al 3kl

L---‘

Pathway A represents the catabolic pathway

Pathway A represents the anabolic pathway

gl e A leall Niay

Molecule 2 is bigger than the molecule |

1 n@ﬂiuﬂﬁ‘z ;.g__{):_di

Pathway B represents the catabolic pathway

?.H.ll _JLM B Jlm.qll Sias




Any heavy chain can combine with any light chain. AL ALl pa 22T ol pehiod LA Al & UL el
If a B cell can make 16,000 different kinds of heavy AL o) e Blina £45 16,000 (383 B Adal) cilg 1))

chains and1200 kinds of light chains. Adadal) o) (e fes 1200
How many different antibodies can a B cell make? B Audill Lgiess o pabing A ddisall Saliaall aleal) a2 oS

19.200.000

13:33

17.200

14.800




Based on the diagram below, which shows the structure of Bafudlll S maags (sally calaal acall ) daline)

the chloroplast, which of the following indicates the location Il &iglall Glijall adiga ) sl (i Laa ;__u;i « ¢l padll
of light absorption colored molecules? ¢ eguall atiad

4

r-------‘
TR Il Il r ™



